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Booklet does not have any unprinted or torn or missing pages or items, etc. If any
of the above defects is found, get it replaced by a Complete Question Booklet of the
available series.

2. Write clearly the Question Booklet Version Code A, B, C, D or E in the appropriate
space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet version code and
affix Signature on the OMR sheet. As the answer sheets are designed to suit the
Optical Mark Reader (OMR) system, special care should be taken to fill those items
accurately.

4. This Question Booklet contains 55 questions, Part — A contains 40 questions of one mark
each. Part — B contains 15 questions of two marks each. All questions must be
attempted. Each question contains four answers, among them one correct answer
should be selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with a

black or blue ink ball point pen. If more than one circle is shaded / wrongly shaded /
half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer Sheet
is collected. After handing over the OMR Answer Sheet to the Invigilator you may
leave the examination hall.
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PART - A
TN —
Note : Answer all the questions. Each gquestion carries one mark. (1x40=40)
p AT acarﬂ;’)z'g‘mri& 0304, B3 T,JT Lo €508.
1. Who discovered human blood groups ?
a) James Watson b) Alexander Fleming
c) Landsteiner d) Einstein
SRTSS TET rOOJYNYy, F0R0&BTETO 0353 ?
a) weF o, W b) @& oET* GAAIOIY
c) &9, 0m R eI0° d) 2%
2. Magnitude scale for earthquake
a) Ritchter b) Cornell c¢) Meitner d) Heisenberg
ERTOTT 363,30, TRTI SRR TS
a) 08T b) o8 C) ee3o* d) FRIWNE
3. Transistor was invented by
a) McCarty b) Shockley c) Borlaug d) Kapitze
632, Q70 B OS0) BOTT IRETTW.
a) T b) %S c) Wpeo'eRn’ d) T,
4. The antibiotic penicillin was obtained from
a) Staphylococcus b) Penicillium notatum
c) Streptococcus d) All of the above
T8 28 TAOT'T TR
a) 33 LR b) QDR SeEmtsnF
C) AT EReTTT d) R0eOT QI
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The social science study

a) Material World b) Mathematics
¢) People and Society d) Experimentation
ROTIET 2T O, BT, 0D SRRTT.
a) <R3z T,Tou b) nedzs
C) T RB) XT0% d) &,0dnens
- The microscopes which help to observe nano-materials are
a) scanning tunneling microscope b) atomic force microscope
c) electron microscope d) both a) and b)
Ty ERe BRNIR) DTV ATHOD TWRRT AT  BIFFL
8) 7, [ON* LN X8 B3 b) esta0T Fpex'r AT TIFT
C) 2O RAR% BBFE d) a) &= b) FTER

The first Indian satellite launched through Indian made launch vehicle in the
year 1980

a) Aryabhata b) Bhaskara c) Apple d) Rohini
19803¢ SRFTY, (TBTEE B0IRTIT HLBEIDETD TOBIE BWRVT YVEOBTHBOINT
BRATO T0&C0D VTN, B

a) 3033 b) ¢»3T C) &, d) dne&ed
part of Indian population directly depends on agriculture.

1rd 1 th 1 3 th

) b) 7 )% d 7
PN, PTBEY S %8R0, SedmoN §&od e $E©0wBoNET.

1 1 1 3 °
a) 3 b) % ¢) 5 d 7
Green Revolution is in the field of
a) Agriculture b) Milk c) Fish d) Wool
BACT,08 JET _ FeF 1Y,

Q wh

a) & b) =& C) Qe d) oo
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10. GMO stands for

a) Genetically Modified Organism b) Genetically Motivational Organism

c) Grand Money Order d) None of the above

GMO 2033

a) =AFO IRRF T SnrARTS b) %QeIBO SpesiEermet LnriHS

C) MR, 0T° SV BBFT* d) 0edT cIRFTe B,

11. The process of repeated formation of species is called

a) Evolution b) Speciation c¢) Variation d) Mutation

B ueTnsd YRooBSFFRR0R CAPRAWS Byobody _ omyZ0.

a) Q5% b) =,iele8Ten c) Toee, d) LSTFTOBSF
12. Of the following select the adversity of antibiotics

a) Allergy b) Diarrhoea

c) Self prescription d) All of the above

2RNTE, T8 VNG ST TOTIBRY, B0

a) OB b) @ cdedcin

c) ﬁc:;e?_gj oy d) oI 2P

13. Soaps are
a) Sodium or potassium salts with fatty acids
b) Contains petroleum products only
c) They contain fatty acids only
d) None
TRLRTONED
a) %R0 ST FREPA0I0 VI T TRWE IR, BRDT
b) el edodo deﬁﬁ¢Q TN, BROOT
€) 3RYF SIFR, WRE, TRDT
d) olnRTe s
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15.

16.

Nuclear fusion means

a) Splitting of large atom into one or more smaller ones
b) Fusion of two or more lighter atoms into larger ones
C) Both a) and b)

d) None

B0 Focdeexd 8,03 203

2) TRT 560 2,00 SF B3y R eoea0mivan LSO

b) 2 s@e STIBO8 3y BIOTIOE 96071 F003RERBCA0T TRT tsea0ried
DRBIDT

C) a) D b) 2R
d) RFYTe v

Which of the following reaction occurs on its own in nature ?
a) Nuclear fusion

b) Nuclear fusion and Nuclear fission

c¢) Nuclear fission

d) Moderator

FINIIHNT) SR QRNFTE. RRLIOITIIN Lo 3,03 92
a) e Jocdeesd

b) £ Toodrexs Tone ee Oy

C) 60 ATY

d) SerEdeeict

Which of the following causes least pollution when burnt ?
a) Petrol b) Diesel

c) Coal d) Natural gas
BN, CBRJYTO YVOTN 8T SROF I SUORDTRRIE 9
a) Tedp,ef b) Rezer

0) SR d) 3308 sne

SPACE FOR ROUGH WORK



0 O O 7- CS - 544

17. Fuel formed under the earth's surface by the decomposition of organic matter is

a) Organic fuel b) Biogas fuel
c) Fossil fuel d) Underground fuel
QOFIF) PRIV IFNTY TRT IRNY FnFodoRFaved
eRiesLST.
a) TSNS AT b) 2§08 RO AT
C) TS [OJS d) R SFPNTYT VTS

18. Transgenic plants are
a) native to one country
b) contain foreign genes in their cells
c) are used to produced disease and pest resistance crops
d) both b) and c)

¥3, 07 835 NS DOTT

a) X Cf ed NBNSL
b) S::‘q EREBNY DFed TeTTBRIR), BoOTOZI

c) TV Torte $etd ATRTT WINFRY, LWRTSODY, WERSIROS 3
d) b) R ¢) 2TTR

19. Who released a special stamp entitled “White Revolution” in July 1968 ?

a) Mahatma Gandhi b) Jawaharlal Nehru
¢) Indira Gandhi d) Mothilal Nehru
1968 YR, “I¢3 SOBREOT” D0W SeAFFOD B0oWOD) eIn o)
VRN :mﬁ%dci:
a) ST MO b) ZBT R IH
c) 00T MO d) eSS IB
20. To join the internet, the computer has to be connected to a
a) internet architecture board b) internet society
c) internet service provider d) all of the above
£030F ©F JETLL NEFCDOS 33T, FENT CIRTTT, TOTIFRLIER 7
a) QoLs Jf 38 435° O e :5‘~ b) "aot.v‘aé::" RIS
0) ROBTHE ROFT TpF IO d) 9T 20T

3}
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21,

22:

23.

24.

25.

Anatomy is the study of
a) Structure of an animal or plant
c) Structure of earth
Oon TuTToR, Q0TT
a) 0,68 L5 BYNY 01
c) LRaob 8BS

Heliocentric Theory was given by
a) Nicolas Copernicus

c) Oldham

XRODF Feod),3 ms%oéwag BT
a) JBRCOTF BRETT TR’

c) Wo maﬂf

Birth place of Renaissance is

a) Italy b) America
ST EBIT wIS ﬁ@%"

a) «wd b) 9230c0%
The first airplane was flown in the year
a) 1901 b) 1902
BATO RIS ToTEITOT DRE

a) 1901 b) 1902
The other name for antibiotics is
a) Vaccine

c) Antiviral

T,8 B dFN SOZR0T T

a) &8

c) & 08333, 0*

O

b) Life on earth and in space
d) None

S &5, 0003 BRBIRI.
b) 23RN0 TINR mmﬁmﬁ L]
d) odRRTe B,
b) Galileo
d) Einstein
b) rtOSdee
d) 2R &
c) India d) Britan
C) %3003 d) 2,83
c) 1903 d) 1904
c) 1903 d) 1904

b) Antibacterial
d) Antacid

b) & 083239, 3 £0 0D
d) o
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26. Chernobyl Nuclear accident occurred in early morning of

a) 26" April 1986 b) 26t March 1986

c) 26! June 1987 d) 26t July 1987

3o R00t308 BRereRe TORRD BEiyed SEoED.

a) 263¢ &, 1986 b) 26&e es'e 1986

c) 263¢ wex® 1987 d) 263¢ w0, 1987
27. Russia launched the first satellite into space in 1957 named

a) Sputnik || b) V2 c) Sputnik | d) None

Cam, 0 195709, 10w, 5035 VIR FBOING FATL HVTN, BT BITO

a) RoF Il b) V2 c) R | d) oIRRTR BY,
28. The first Indian satellite launched by Soviet Union on 19" April in

1975.

a) Rohini b) Appolo c) Chandrayana d) Aryabhata

70030 VAT YVIN, BT 2Re0HT 00RAHTT0T 193¢ D, &*

1975 TOTD LVTEIRTOITONBD.

a) Bredktd b) esgpecine c) 230%3,0303 d) esodFydes
29. Who is regarded as father of genetics ?

a) Mendel b) Bateson c¢) Hugo de beris d) Darwin

BVTOAT LTOTD 035031 ?

a) Sor* b) e3ees’ c) mﬁr{mea 30%¢ d) wowF
30. Expand DNA

a) Deoxyribo Nuclic Acid b) De ribo Nuclic Acid

c) Deoxy Nuclic Acid d) None

DNA® DXOR.

a) Bwdeguine IR EF S, b) & gudne IR, 35 S

C) Besde IR3T° B, d) odnRxTe B
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31. The process of hypothesis testing has
a) 6 steps b) 9 steps c) 8 steps d) 7 steps
3, 3*8ON 0D wOeg ob &,8,030002 TOIRTRY, WITRORT.
a) 6 b) 9 c) 8 d) 7
32. Traditional Indian herbal remedies are
a) Neem b) Turmeric c) Tulsi d) All of the above
FDOT, TOWT IOTETH AX, RPVT DOTIONED
a) ey b) ©03 c) 309 d) 3009 DY
33. Which of the following is not basic ages of metals in the Ancient World ?
a) Copper age b) Bronze age c) Iron age d) Silver age
3IBOBIINTE), CIRT)T 9,236 3,70 TRV dRem0ONRe), ?
a) e, oon b) oz odon c) Ve odon d) &3, cdor
34. C.V. Raman won Noble Prize for
a) Physics b) Chemistry c) Botany d) Zoology
2.8, TOROT* T 33,39, Sneeder B33 00, BETWD.
a) ¥R, b) SReadTTOR, C) A™TR, d) =o,6339%,
35. “Origin of species” was written by
a) Oparin b) Lamarck c) Darwin d) Copernicus
2.0835° &5 AedETT Y WITHL
a) W@0T* b) comnEF C) BRFD® d) gnzcRss
36. Each computer connected to the internet must be
a) be an IBM PC b) have a unique IP address
c) be internet compatible d) have a modem connection
RoTTr BRODT TS Neagodes, ) S, BeodTLewd.
a) IBM PCobsy b) o%0Res IP ¥Ry
C) ©S03T RO FOTRRT T d) BReESFI ZoZdess 3,
SPACE FOR ROUGH WORK
D
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37. Intemet works on
a) Packet switching

c) Browser
SOOI

a) ==, 3 Ao
0 Rz

. HTML stands for

a) Hyper Text Making Links
c) Hyper Text Markup Language

CS -544

b) Circuit switching
d) URL
T S500 08 503 SRRST.

d) None

a) 307 & e OcF b) FoDT* L7 38 Indron ST OcF
= -rs - -~

c) S0 i InRFreT oS’ d) TR 28
2} - -

a) Hyper marketing
c) e-commerce

SERFCD0T ITONTR 3T D IRTITF

Buying and selling goods over the intemet is called

b) Cyber selling
d) All of the above

DOTD IV ¢33,
b) 3T IQorv
d) O3 29Fe

40. Which of the below is the non-renewable energy resource ?

b) Coal

a) Solar
c) Hydro electricity d) Wind power

; A awm e wmm—— a o TR AN T D Sy g ==, S o
é-‘._.'ﬁ‘:::_::';i: f._:___ IR -...:..:‘-.:.&\. ~y M‘-;'.:‘ -a-‘-_ﬁu WEFTOITI L:_...x_‘__ )
a) =T b) 593w
c) Se L = d) ool Sé
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PART - B
PR -
Note : Answer all questions. Each question carries 2 marks. (2x15=30)
RN AR T,I NN evZ0R. B8 T,ZN 2 ©0F

41. Which one is found only in males ?

a) X chromosome b) Y chromosome
c) 2 X chromosome d) None

BN, CIRJT FeI© YPTOROY, ForOWTAIE ?

a) X IpreSo ' b) Y =£2F 3020

c) 2 X SJe2r80d d) cdnxEe LY,

42. PSLV means
a) Polar Satellite Launch Vehicle
b) Public Service Launch Vehicle
c) Polar Service Load Vehicle
d) None

43. The first structure of DNA was determined in by
a) 1953 by James Watson b) 1935 by Landsteiner
c) 1953 by Einstein d) 1935 by Planck
DNA ¢ 0285000, o9, TR BRTed AFFOATI.
a) 1953 09 dey =, 3 b) 1935 T 3, 0GR ¢

1‘]'\ P

c) 1953 0& T3

4 4
=5/

d) 1935 8¢ =05

SPACE FOR ROUGH WORK
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44. The chemical used in manufacturing soaps which has high risk of causing

cancer
a) Trethqnolamine b) PEG-6A and Sodium PCA
c) Propyiene glycol d) All of the above
TR LUBDTIONE, HBsROE 03RE ToRPDIBE0T 53 TT* V0L TG, 3
Qs ? ”
a) 370 RN’ b) PEG-6A =03 Berod=r* PCA
c) Ty eF° Tid Tk d) SO QP
45. Father of “White Revolution” in India is
a) M.S. Swaminathan b) Norman Borlaug
c) Verghese Kurian d) None
IR03T “Be3 59,08" 0 QBB
a) 0.2 . WLOTIFS’ b) SoRoFs® Tt oo
C) WNFEeR* BOOODI* d) cdnde ¥
46. Photovoltaic energy is the conversion of into

a) sunlight into chemical energy

b) physical energy into chemical

c) sunlight into electricity

d) chemical energy into physical energy

Fpesdneadpees 00T I8 00T DOLOT 2Ts)
TOTWIFIOIPNRORTO.

a) BEODFS W&E> TomPOIRT JFoIRN

b) ¢3°o8% I3 Tomo0308 803N

c) RRODFS BB NW,S° 33 03N

d) ComR03ORE B8 288 JgoIRN

47. The word science comes from meaning
a) Latin, language b) Latin, information
c) Greek, knowledge d) Latin, knowledge
3,000 00 TBHET BV OTT ST
a) méwaf,apaﬁ b) BT, Broded
C) NeT, 2T d) oo, WS
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48.

49.

50.

51.

Rediscovery of rational civilization exemplified by

a) Greece b) Rome
c) Both a) and b) d) None
288 TONOeEIoR RO LFERBI w0, B0, 3 BT
a) nex b) dees
c) a) 3 b) BEe - d) cRFTR B,
One nano is equal to m.
a) 109 m b) 910 m c) 10010 m d) 9 9m
20T T2, JR¢ QEEITF 033 m 73 T0.
a) 109 m b) 9710 m c) 10010m d) 9°m
is the first nuclear power plant in India.
a) Kudankulam nuclear power plant b) Tarapur atomic power station
c) Kaiga nuclear power plant d) Madras atomic power station
YTR03T T, T, T 950 DT, T WIT
a) FRBIT RO e 0T, ADtNe} b) oo esead NSV mq)afd
C) g S0 O, TF ST d) we,x esead T WY
Measures to raise agricultural productivity
a) Proper education b) Package programme
c) Crop protection d) All of the above
LS a‘o?iﬁsﬁﬁe;Q as"z&jw Sricdnoz 3,80
a) JOCINT 8859 b) = Feese TIOF B,
c) e3¥ed g 0) 563 wrms
52. Cultivation of grapes is also called as
a) Horticulture b) Sericulture
¢) Grapiculture d) Viticulture
39,3 TOTOITOLTY S0T FECIWTT.
a) DIy b) RleLSe)
c) feaseos d) Qesmyoe
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53. Match the correct pair.

A. Indian nuclear programme
B. Indian mansoon model

C. Green revolution

D. Agronomist

a) A-1,B-2, C-3,D-4

c) A-2,B-1,C-4, D-3

BROOX WI0WD.

A. 8860 TTTREL FOORFE,O
B. 7238cad 0ormdd SRE0
C. D »,03

D. SR, (0T,

a) A-1, B-2, C-3, D-4

c) A-2, B-1,C-4, D-3

. Ancient mathematics is from

a) 30000 BCE upto 2000 BCE

c) 2000 BCE upto 800

T39,83¢ NESSY)

a) 30000 BCE o200 2000 BCE 381
c¢) 2000 BCE ooz 800 =31

. E=mc? is an equation to prove
a) Photoelectric effect

¢) Brownian motion

E = mc? oeomd

a) 0 T IO

A T < -
C) R,2DF Wes
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1. Vasanth Gowarikar
2. Homi J. Bhabha

3. S.K. Datta

4. M.S. Swaminathan
b) A-4, B-3, C-2, D-1
d) A-2, B-4, C-3, D-1

1. J903° MSLFC

2. TR A, (T

3. 378 T:

4. Q0.2F. TWTTT
b) A-4, B-3, C-2, D-1
d) A-2, B-4, C-3, D-1

b) 800 BCE upto 1500 CE
d) 1400 CE upto 15000 CE

b) 800 BCE com 1500 CE 33R
d) 1400 CE cowm 15000 CE 317

b) Radio activity
d) Theory of relativity

) ATRITLD AT RS, .

SPACE FOR ROUGH WORK



